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Study the data in the given table and answer the ln. ?VhiCh city the distribution of paper is
question that follow minimum? . . .
News [ News [News [ News ||~ frferiaa arferent & %mw}wmusﬁ
News Paper/Cit Paper | Paper |Paper | Paper < . . N
TR A LR L C | b ||\ ) st e dee | faaite st e
Delhi 1000 | 750 | 320 | 250 (a) Jaipur/SFEAYX (b)_Lucknow/d@ 3
Lucknow 500 750 250 175 et . \ﬂ
Varanasi 200 150 165 155 (¢) Delhi (d) Varanasi/ )
Jaipur 200 | 350 | 135 [ 160 ‘ N
ffaiaa arfeen U faa- @@ a9 o arT Oisd

HUTEW TSIt okt H&AT (ST ok g | foar = §) |
qen fafirer gl o faaia  feru 7o w@memu= &t
AT IITTET T3 g1 ATIAHT o SR W U9 1 | 5 &
ELMCUE L v VS

WHEN [ FAER | geR | S9eER| gy
V| & "W W | w
A B| C | D

pu
T4\ |(2000)(2000) (1000) (1000)

0
feat [ 1000 | 750 | 320 | 250 9\\3 g’
waTs | 500 | 250 | 250 | 175 \\/\

amort | 200 | 150 | 165 | 155 (,’\‘D/'

S
s | 200 | 350 | 135 | 160 ‘b"T//




Study the data in the given table and answer the| What 1is the percentage of distributed
question that follow newspapers compared to printed newspaper?

News | News | News | News ||: qfeq @om=nt qof et Wiee oht €&AT i Gor=T
News Paper/City | Paper | Paper |Paper | Paper - =

A B C D T faraRa ol T8 U= U5 el Uit aht ST

Delhi 1000 | 750 | 320 | 250 ?

Lucknow 500 | 250 | 250 | 175 o
Varanasi 200 | 150 | 165 | 155 (b) 84.004
Jaipur 200 | 350 | 135 | 160 (d) 82.5%

HEfARgd dlfetert H TehdS @TH a9 & SR Hisd
FATIR U3 ol G&AT (ST foh shigas o faar mam ) |
qar fafirsr el o faafRa g @ waremusn
HEAT IOTET WE ) ATfeTeRT o MR W Y97 1 | 5

WW: /

HHHEN | IR | 99ER| 999K
A RE] RE| EE| pu
A T8 D Q 1% J |
(2000){(2000)((1000){ (1000) —

STAYL 200 | 350 | 135 | 160




Study the data in the given table and answer the

question that follow

News | News | News | News
News Paper/City | Paper | Paper |Paper | Paper
A B C D
Delhi 1000 750 320 250
Lucknow 500 230 250 175
Varanasi 200 150 165 155
Jaipur 200 350 135 160
Teferigd drfetet | fehd @ @6 o A Higd

WUTAR TS shl W& (ST foh siger ® foam = §) |
e fafusr sredt o foaRa  forg 7@ womemost Eﬁi
¥n§aTEunﬁfrT@E%1?ﬂﬁﬂaﬂ”%;an%nt1mrsmnr1 5

(2000)

(2000)

(1000) (1000)

200

350

160

135/
y 4

What is the percentage of distribution of
newspaper C in all the cities as compared to
total number of newspapers distributed?

il i ghet W&AT aht got-T § QHER UH C
& faala st w5 gfeat @t &er d@Er @t
gfereta oRIT 82
(a) 16.46%

f c) 18.42%

%o ~¢\Sfi)
/
Do\

Gl

(b) 17.36%
(d) 16.36%




Study the data in the given table and answer th

question that follow

News | News | News | News
News Paper/City | Paper | Paper |Paper | Paper
A B C D
Delhi 1000 750 320 2350
Lucknow 500 250 250 175
Varanasi 200 150 165 155
Jaipur 200 350 135 160 |
TEAfRad drfetert ® fehat @ 99 o a0 Hisd

TR TH & GE&T (ST 7 siges o faar @ )
aer fafirsr orgdl o faafia  feRuw 7o wwomusT @6t
H@Twﬁtﬁné%lmﬁamaamwmlﬁs

HAEL | HHER
RE| RE|
B -

)[(2000)

(1000)

el

TS || 500 | 250 | 250 | 175
ammrit || 200 | 150 | 165 | 155
see || 200 | 350 | 135 | 160

What is the ratio_of ‘total distributed pa} to

total newspaper printe
e AT = é w2 g
T aﬁ'{ ST &l T et yﬁra‘r ohi H&AT Rl

___E_?

(@) 5:6 (b) 51:60

(d) 52:61

(c) 167:200




the following modality involves active 'give'
and 'take' between the teacher and learner?

gfe LT R AidcAeh ot a¥g <@ AT g ot
frefafaa s €@ geRrar frerer we erfrmm
Hdl ok ol GiehT ‘3ME’ ‘Ue=’ ol ImiHet
T §7

(a) Training/HﬁT?ilﬂT _(b) Conditioning/3A-Ihel

( (c) Instruction/3TasT ﬁd) Indoctrination/AdRITOT

If teaching is viewed as a continuous. which of
S




What is the correct sequence from lower to
higher, for__indicating learning outcomes
related to(affective domain?>) . \‘-\ A"
T TURR &l H woield SIenTy giurmdi
& 3T A & o e | THU =T
87
(A) Receiving@rﬂiﬂ) / %/\%\

(B) Valuing/Hedishd il

(C) Responding/§fafshar 1)

(D) Organization/d73d

(E) Characterization/ﬂﬁﬂ?m"{'ffl/

Choose the correct answer from the options
given below: o
frfafaa faeeat o 9 9@ 3wv g

(1) (A), (B), (C), (D) and (E)

(b) (A), (C), (B), (D) and (E)

(©) (O), (D), (E), (A) and (B)
(d) (B), (C), (A), (D) and (E)




Given below are two statements: el rempearalies mevsen K. it gt

:ﬂﬁaaﬂ?mW% @ S rian mert & aTrefras # fereifas fraedt #
Es) ohF SOOIk SAY oA

Statement/&e (1) : < R e e 4 e 1 o

Ability of an individual or group implies the e Bcop o egllgf -l s o il

' ' (c) Statement I 1s correct but statement II 1s

components of knowledge, skill and experience incorrect/mwT [ Tl & fareg o I et et &1
(d) Statement 1 1s 1ncorrect but statement II 1s

syl i o B A< ooyt 15t bt & T et 11 o 3

99 & 23 3 S B ¢l

Statement/&& (II) :

Willingness of an individual or group implies the
components of confidence commitment anc

motivation/Hl @ HUEl TR A T
W, g A S & wE
SR A 31 N,




T=-1 =Rt TS=0-11I |@ | atera =witsta:  aS=ir-1
rarss v TEarfesa feeg s/ a7 g7 gsisEr=T
Rl E9Tidl 8 STatfes O=ir—11 S93as faayor =<t 8-

List/XI=it—1I List/Xa=ir—11
(A) |Planning (I) |It imvolves feedback of
E>IES e result and follow up to

compare
accomplishment

== gfIomEr S gfagfs =61
STfEe shzar @ AT fasaft=y
ST TAAT SH - Toi@ Si-aadt
HrEaTET sHLar 2 |
(I1) |It imvolves engagement
in task relevant
activities

- = =HT=1 =5 ESIESIEI =)
fop=mereal &5 fafa=arst=

(B) |Organizin
SATATST

=HT ST sHTar =1 I
(C) Mouwvati I1I1) |1t inmvolves bringing
ST ToT together resources and
people
— o= H=Idl O AN Shi U<h
rer faarar 2
(D) |[Controllin (IW) |1t involves setting goals
fa=r—=oT1 j and objectives

D— far=for ssxar €1 ——f¢
Choose the correct amnswer from the o i
given below:

Taateaiaa fasscar 7 O &3 sy =Staa:
{a) (A(IV), (BY(IIL), (C)—(II). (d)-{(I)

> >

() (AI-(ID. (BI-(D). (CH-(IV), (D)H-(II1)
(d) AH-AID, (B))-(IV), (O)-(I), (D)-ID




Given below are two statements: One is
labelled as Assertion (A) and the other is 0\
labelled as Reason (R):

N~ éﬁ"’
:ﬁ%a}aaaqﬁ'qnq%ﬁqﬁ@aﬁarﬁmm/ﬁm/, /
(A) =TT TaY =6t a9k (R) <HaTl ItaT 8 = /\5\l 7
Assertion/3TT3TaR2IT (A) - \\\

The wuse of ICT has a great potential for

optimizing learning outcomes/3feFTH  gflommHI

SEdH dﬂlﬂaﬁ@@aﬁﬁaﬁﬁﬁwqﬂﬂw%\/

Reason/d<h (R) : T
ICT promotes scope for wvariety flexibility and
attractiveness/31Ts . 491. 7. fafaygar, A=A dr LT
T8 Lar =kl Hafela skt 2| ——————

In the light of the above statements, choose the
correct answer from the options given below.

HhelAl ok ATATeh | Taraifera faskear o

SugTh SWY A

Both (A) and (R) are true and (R) 1s the

correct explanation of (A)/(A) 371 (R) =1
TET & 31T (R), (A) S 9T =T 2 |

(b)) Both (A) and (B) are true but (R) 1s NOT the
correct explanation of (A)/(A) 3T (R) =1
& € 9% (R), (A) &I I =TT AF81 2

(c) (A) 1s true but (R) 1s false
(A) T2 @ 93 (R) T =T 21

(d) (A) 1s false but (R) 1s true
(A) T2 AT @ g3 (R) & 21




Identify  the  non-probability  sampling
procedures from the following:
freafaflga # 9 EHTedar W Mmeia ufaast
UfeRaTaN Sl U= ity ( \ O )
(A) Simple random sampling

TN Agfeadh Hfd=a-

(B) Quota sampling/3TTfdeh Hﬁﬂ@

(C) Cluster sampling/T<s Hfd=a-

D) Snowball sampling/EaTd Sfaaa

(E) Dimensional sampling/faWTcAsh =2

Choose the correct answer from the options
given below:

Hrar e T feremeat ® @ W SR A

(a) (A), (B) and (C) only/dd (A), (B) 3 (C)

(b) (B), (C) and (D) only/&ad (B), (C) 3R (D)
_(¢) (B), (D) and (E) only/®de (B), (D) 3R (E)

(d) (C), (D) and (E) only/&dd (C), (D) 3R (E)




A college principal conducts an ethnographic
probe into the problem faced by tribal (\
students, which method of sampling will be

most appropriate? 5
Uch WEIaamad gremd g
foenfefel grr WA @t S W@ awenei }ﬁ

TSlfereh STl ohvaTs 31 Ufaera= &t i
fafer gaifas Sugh gift?

(2) Random sampling 25w ST M

)
(b) Stratified sampling/d Hd ~ ngg
Y \(c) Cluster sampling 758 S |
(d) Systematic sampling/Hafe Siwad




——

(\}i’ven— below are tvs:() statements :
e =r s faug 1w 8
Statement/ahelAd (1) :

Fundamental researches directed at exploring the
applicability of truths and principles already

established/dAifeTsh 319y gd _Tonfug Ol wd )
faidi &5t s=rsaar & STHYUT ST 3T Safdd 8 8 |
Statement/eha= (I1) :

Action research aims at ameliorating the ongoing
conditions and practices/fSharHsh ST

W@W@ﬁqaﬂdﬁ{dwmﬁgl

In the light of the above statements choose the
most appropriate answer from the options
given below:

ST~k haAl oh 3TTellch H fAAifera faekeal

& Tatferes Sugeh SOT =

(a) Both statement I and statement Il are correct
e 1 3R 11 a1 @Eﬁ g1

(b) Both statement and statement II are
incorrect/she— 1 ?.FﬁT I1 S 921 a2 &1

(c) Statement I 1s correct but statement II 1is
incorrect/&e= 1 W&l @ fohg sha= 11 921 a1 21

Statement I 1s 1ncorrect but statement Il 1s

correct/&ha 1 Tl Ad1 @ fohg sa= 11 &1 2|
—




)

Given below are two statements :

firer @r sk fag 1o 2 |
Statement/ah214 (1) : ﬁ‘ '\/)
- - J)
\/i'he population 1n research means a defined 1/\,
aggregate of something which 1s the focus of| -~

T H 9T T AfETT @ stemaq 3g fow g
fas=sr # Heifaa gafkyriea ==
Statement/aheaTA (11) :

,A sample 1s a sub-aggregate drawn from a defined
aggregate to represent it

gfaesl s Su-ug==a 8 59 3uest fasfua s =
fore s ufterfea 9o O forar smar 21

In the light of the above statements. Choose the
most appropriate answer from the options
given below :

SUwh ShelAl oh 3TTellah O fAAteriEaa faahearl o
v SUg<h SOY <A
) Both Statement I and Statement Il are correct

sher 1 3T 11 <=1 Fl%"r =

(b) Both Statement and Statement II are
incorrect/shel— 1 E‘FﬁT II ST 921 =987 &1

(c) Statement I 1s correct but Statement II is
incorrect/sher 1 & @ foha v 11 T&T =&T 21

(d) Statement 1 1s 1ncorrect but Statement II 1s

correct/sheI 1 &I AT @ fohd 2= 11 23T 2




Given below are two statements: One is ‘X\‘
labelled as Assertion (A) and the other is
labelled as Reason (R) : ) NV 9,
frer r e fe=r T @ /™S9 @ uwes R \

2TRTHTT (A) T TEY ekt deh (R) Thal 19T 8

Assertion/3T3 TSR (A) :

Research ethics 1s must 1n order to provide

credibility to the research findings and their use in

authentic situations/3IHET URUMHI Wa__drEdiash

gfifferfa=ail & I9ch_ AT ol Tagaa-iadl & hid <h \/

e s1gdya # TR dfedr stavash 2|

Reasons/d<h (R): =—

Application of ICT 1n research ensures reliability
of research results

HATHE H AL WHE. BT AFEANT AT gfRuTnHi
&1 fazaa-iaar =61_gfafe=aa_sar 21
In the light of the above statements. Choose the

correct answer from the o tions given below : .
SOk ShelT oh 3TTelah o 'gn:lf#r%'a farepatr o

o Taiferes SUTaa ST =I4:

(a) Both (A) and (R) are true and (R) 1s the
correct explanation of (A)/(A) 3T (R) [
ET 2 3T (R), (A) HI TS ==E=Am =2 |

(b) Both (A) and (R) are true and (R) 1s not the
correct explanation of (A)/(A) (R)

TEr @ 9% (R), (A) T T =A== 2T 2
) (A) 1s true but (R) 1s false
(A) T @ 9% (R) G —&F 21

(d) (A) 1s false but (R) i1s true

(A) T & @ 9ig (R) T&r 21




u %

Immediacy of cues in communication Iis O
\‘é

dependent upon one's own :

mﬁw i u%cﬁ ! ATHITeTehdT (T e ¢,
foett e
(a) Economic preferences/31de Srafter W

(b) Cultural background HTEfd %ﬁﬁﬂ/
) Physical fitness/ I w@med

(
(d) Social expectations/HTHI U W




Which of the following methods helps in
improving academic communication?

IreTfUTeR TEEUT H G o @ fog fmfataa
&= |t faferar agres g &

(A) Preference to vertical communication
SEate Gl i AfeHE

(B) Training individual students n
communication skills

GIOUT EId] ddfthah ©ME1 Rl GL0T

(¢) Restricting too much  generation of
information

o1 Sl agd e 3caftd i diffd e

(I?) Recognizing  cultural and  linguistic
differences among the students/faEfea \%/
Sfte QiEehceh AT 3T sl Tgd= il

(E) Opting uniformity in using cultural symbols
gichfaes il & YA H GHEYAT &l 99

h{Al




Given below are two statements : One is
labelled as Assertion (A) and the other is
Iabelled as Reason (R) :

H=r =r s fo=r 71 & fST9a9 O uwes Rt
STATHTT (A) STT @Y ekt d<h (R) ShHatl 31497 81
Assertion/3TT3aaaRearT (A) :

Verbal communication takes place instantly )e,‘(\w

Hifiges 9=IYUT dohiel O aidar 2 |

Reason/d<h (R) :
Written communication 1S synchronous in
character as it appears at different intervals

aCt

Fifer =g faftr= st=auaet & _efBi=g 8iar 2 safeg A
M%ﬁﬁlmmm@ﬁu _;)ﬂ)"
In the light of the above statements choose the
correct answer from the options given below :

S~k SheT oh 3TTollah A TaAateriaa fassear &

o Taifereks Sudea S9¥ S

(a) Both (A) and (R) are true and (R) 1s the
correct explanation of (A)/(A) 3T (R) <=l
ET 2 3T (R), (A) HI &1 =TT 2 |

(b) Both (A) and (R) are true but (R) 1s not the
correct explanation of (A)/(A) 3T (R) =<l

2 9% (R), (A) I & ===ar A&7 2 |
) (A) 1s true but (R) 1s false
(A) T&T @ 9%q (R) T& =& 21
(d) (A) i1s false but (R) is true

(A) T& =& @ 93g (R) T&T 21




ot ¥

Indentify the correct sequence of the
emergence of the following publications :

frafafaa gl o IS o WEl A

PECIERCTIS LE 3 N
(A) Standard newspapers & \"
3yl (LeE) HRER 93 -

(B) News book/HHTHER gﬁ%

(C) News sheets/THER 1ed
(D) Tabloids/UfFeg
(E) Broad sheets/siTe ¥fied

Choose the correct answer from the options
given below:

=R AR oo wEt S i
\@ (C).(B)(A)(D)(E)} (b) (D),(E),(C),(B),(A)
(¢) (A),(B),(C),(E),(D) (d) (B),(C),(D),(E),(A)




Match List I with List 11:

T=ii— I ot @=it— 11 & gAfera shifeg;

List/=it— 1 List/3=it— 11
/ (Systems of (Focused elements)
Communication)
(A) Western (I) Non-competitive and
qf=rHT co-operative
\ / R-gfaequfcrs vd g=garf

(B) Indian/ (II) Co-existence of
binary oppositions

_— fe-smard ufassadar &t
g-3ad

(O) Buddh}'ét?ﬁ@ \ IT) Emotional variants
HITHh RN [ X

(D) Chineseﬁtﬂ (FV) Rhetorical devices
3T hILh HTed

Choose the correct answer from the options
given below: o

Frafefiaa faseat o 9 wdt 397 g

(a) (A)— (D), (B) —III), (C) — (IV), (D) —(1D)

(b)) (A)—dV), (B) —ID, (C) — ), (D) — D)

(©) (A —dD, (B) —dV, (O)—dID, (D) — (D

(d (A) —dAV), (B) — 1), (C) — UID, (D) — (1)




Three persons are walking around a ground.

They take 20, 30 and 40 minutes respectively to

complete one round. If they start from a single -)}'_)

point together, they will meet again at that
point after :

Fﬁqm@ﬁiﬁwmm@@aw
et T TaeT T B AT 20, 30, 317 40
fire o wEE o 1 9 & weft feRelt weR v
2 TH YT A ¥ Rea T 4 I

\'i* :

T U g Therr?
(1) After 1 hour/1 H2-ar2 /\(\
(2) Afterllhourn—a@-—m 208, So "\0

3) After2 hour/2 aé—arc:
\2.0
(4) After 2 — - hour/2 ~ ‘aé—arra




In a class of 65 students, 27 speak Hindi, 21
speak English and 17 speak Bangla, 7 speak
only English and Hindi, 6 speak only Hindi and
Bangla and 5 speak only English and Bangla. If

12 speak only Hindi then how many speak all A
the three languages? O h \J:,
65 forenfelan ameft wen e ® 27 fammeff f&=<d 6 2\
arerd §, 21 foremeff siusht siera € MR 17

feremeff sivem aiea 81 7_feeneff <hae 3fust -

AR &=t arera 2, 6 fermmeff sheer et afiw
AT Aerd & aer 5 faemedf haer 40t i)
ST derd 31 afg 12 faemeff sherer it sfeta o

# 4 forert feramelf moft St v e 1 A A 40

o V)

=2 53 Y

@

(@) 5 (b) 4




The sum of four consecutive odd integers is | — g
2160. The greatest of them is- YA

TR ek qUT foww H@@meT & anr 2160 g
T ¥ TEW T T SA-H g v/
(a) 327 (b) 429

(c) 543 (d) 641




A two digit number is 4 times the sum of its two
digits. The number that is formed by reversing \)\“)

its digits 1s 27 more than the original number. v
What is the original number?

Tah af 3fchi ATell HEAT 37U ST 3fehl o AT
T 4 TAT gl Tk 30chi T thU FgaH W oA
G Ut U1 ¥ 27 31k §1 Ul & )|

(a) 27 (b) 36

(c) 42 (d) 54




Which one of the following Pramanas is

accepted in Vaisheshika philosophy?
Pt & 0 aha-A woon Soes, zors B
it forT ST €72

(A) Pratyaksha/Sca&] (B) Anuman/3TqHH

(C) Upamana/39HTd (D) Sabda/3Tsx

(E) Arthapatti/3eiafd

Choose the most appropriate answer from the
options given below:

et fear T faehedt o W WE ST oA
(a) (A)and (B) only/&dad (A) 31 (B)
(b) (B) and (C) only/&dd (B) 3R (C)
(¢) (C)and (D) onl ymﬂ (C) 3T (D)
(d) (A) and (D) only/&ad (A) 3R (D)




Match List I with List I1:
w_]ﬁw_"ﬁﬂﬂ-mw ﬁﬂﬁ@ﬂﬁw}ﬁﬁﬂﬁwaﬁq—

w1 T T 4 g me oo
(Concept/Doctrine/ (School/F¥J<T) ©) (A)- (E_V), (B) - (I1I), (C)— (II), (D) - (d:)
. — () (A)-(V),B)-(1),(C) - (1), (D) - (II)
(A) Pratityasamutpada (I) Vedant/agid S
GIRREEIE W
(B) Abhava/319/d (II) Sankhya/qred /
(C) Samyavastha/d=aed |(I1I) Nyaya/=d
(D) Adhyasa/31Ea (IV) Buddhism/aig

Choose the correct answer from the options
given below:




In the figure of categorical syllogism, Quantity
and Quality of a proposition determine :

fuTiirer =meare o TTeliuTeR gaT | fenwt
gfastitd st AT 31 uran fafeiea feraent
freriRea et &2 \(\"D
(a) Validity of Syllogism/~IHdTe &) e /
(b) Mode of the Syllogism/=TIaTRI &l =g

(¢) Figure of the Syllogism/=ITdare & &y

(d) Fallacy of the Syllogism/=TaaTa &I I




Match List I with List 11:

TEt—1 &kl =i—I11 O gataa sifsg

List/=it— 1 List/g=it— 11
(Concept/HeheddTq) (Philosopher/
ELIEED
(A) Phenomenon and (I) Aristotle/37T&] \p
Noumel}on V
YIAT T gqddl
(B) Potential and actual (II) Descartes
being cescarks|
a1 '{Olo SIS '6\|"||
(C) Mind and Body (I11) Locke/<ilsh
Dualism
a9 ud IR gqare
(D) Primary and Secondary [(IV) Kant/shic
qualities
yreIfies We TtoT It

Choose the correct answer from the options
given below:

Trafaiaa faeweat o 9 9 39T =iy —

(a) (A)— @), (B)—{ID), (C) —AV), (D) —AD)

(b) (A)—ID), (B) — D), (C) — (@), (D) —AV)

() (A)—-(AV), (B)—-D), (C)—-A1D), (D) — {II)

(d) (A) — D), (B) — V), (C) — {II), (D) — (1)




Match List I with List 11:
et —1 &Rt G=it—I1 & gatera shifsg

List/Q=it— 1 List/g=it— 11
(Concept/Hehcad-Td) (Philosopher/
EANMIE L D)

(A) Phenomenon and (I) Aristotle/37L&] r)
Noumenon V‘ /
AT U qUEdr

(B) Potential and actual (II) Descartes
being 24k d
HOraqT Ud ardfash aFr

(C) Mind and Body (111) Locke/<eh
Dualism
O ud IR gddare

(D) Primary and Secondary |[(IV) Kant/shi<
qualities
srerfies we TitoT It

Choose the correct answer from the options
given below:

Tatafiaa fasmear o 9 9t SO =g —

(@) (A)— (@D, (B)—dAID), (C) —AV), (D) — D)

(b) (A)—dID), (B) — D, (C) — ), (D) —AV)

(© (A)—-1AV), (B) - D), (C) — D, (D) — (I11I)

(d) (A) —(ID), (B) — (AV), (C) — (T, (D) — (1)




A(’:cxorldin‘g to the law of excluded middle :
afsia 7ed o fHam & 3 gEr

(a) A proposition could be true and false
simultaneously

Sferfie Teh T W 3R AT 81 el 2 \(c\ﬂ
(b) A proposition is either true or false /
gferfed = @ 92t 8 37¥ar Ted |
(¢c) A proposition is true if it 1s true
yfeiftd e 8 afe o8 Wl 2|

(d) A proposition is neither true nor false

yfogiftd = a1 @&l 8 31 7 & e |




Given below are two statements:
“fi=r 2r v g 1o 2
Statement/<heaTqd (1) :

Operators are special symbols that are used to
perform calculations, make comparisons and

check logical condition/3TdieX a3y udiss 8 &
SaepT ST aRese &, daAT shid 3 drfeheh
fRofa=i &5 stig 9 & fora fpar star 21
Statement/aherA (11) :

Relational operators are used for arithmetic

operations/fRARTE  SATI=U KT TANT  STHITOTAT
Hfepar (s1ReAfess 3Taizw=) o faw fopar Simar @

In the light of the above statements, choose the
correct answer from the options given below:

STk ShAT oh 3TTlah A AATeTiEada faahear o

o & 9T =4

(a) Both Statement I and Statement 11 are true
e 1 37T 11 <=1 98t 2

(b) Both Statement I and Statement II are false
% 1 3L 11 <41 Tad &

(c) Statement I 1s correct but Statement II 1s
false/she 1 O @ fohq v 11 TTaa 2

(d) Statement 1 1s 1ncorrect but Statement II 1is
true/sheA 1 379 8 fohg = 11 Tt 2




S

Given below are two s}atements -
i=r ar sheT o 71q@ € :
Statement/ahearA (1) :

In peer-to-peer network there 1s no central server
instead each computer can act as a server as well

as a client/HHaF T (F=X g =) Aedesh H his
F=T AL AS Bidl @ dfesh $Hh oS Ycish
HTEIY TWeh AL 3 Tsh FATSS oh &9 H HIA HT
Tehdl 2 |

Statement/aheTA (11) :

LLAN 1s a computer network created for individual
person/LLAN =t fagiy g s=m=m &1 el
A<ash Iar 2 |

In the light of the above statements, choose the
correct answer from the options given below:

IUUTh hTAT oh TTleh H fAAtaiEaa faeheat &

a TE 9 =4

(a) Both Statement I and Statement Il are true
Ha= 1 37T 11 =1 98t &1

(b) Both Statement I and Statement Il are false

AT 1 3T 11 24T ITaad 2 |

(c) Statement I 1s correct but Statement II 1s false
FHaa 1 9 2 fohg == 11 7Tea 2

(d) Statement 1 1s incorrect but Statement II 1s
true/HeT 1 379 8 fohg o= 11 92T 2




A computer network enables two or more
computers to :

HE T T WA A oM .
# Frafted § % w0 a0 @ g waw
T -

(a) Increase the speed/lfl:l@r El'g'lﬁﬁ

(b) Share data and hardware resources
ST 3R FEATR WA bl T A A
(c) Increase the work/#T CCRY
(d) Monitor the software/FHedaR @ FTRHT & ¥




li"u’ll form of the abbreviation OCR is :
Hferere OCR T QI ATH §
(a) Optical Character Recognition

MM hel el e

(b) Online Computer Reader/3iaTzA ciaui\di -fls"\ﬂ
(¢) Optical Computer Recognition (g g
Hlfteshdl HX R

(d) Optical Control Reader/37fieehal shalal e




Which of the following countries has not
signed/ratified the International solar Alliance

Framework Agreement?

frafafiga & @ fre 91 A FEHIEA Ao
IATHT Thilalch WHHE UT ZRITa oAl 3TTAAeA
qﬁm%ﬂ W
(a) Australia/aT@ﬁ“'l'ﬂT X"
(b) United Kingdom/idlsas fhiTey

(c) Japan/STqr—

(d) China/=iH




Given below are two statements One is labelled
as Assertion (A) and the other is labelled as
Reason (R):
r=r et o= 71Tg & 59w @O uwss <kt
STRTH T (A) TT @Y ahl dah (R) <hal ITAT 281
Assertion/3ItaTakharA (A) :

Energy production from biomass has traditionally
been con51dered as carbon neutron/a'l?iﬁ'ﬂlm g oIt
SCHIRA Ohl qRUfiss &9 ‘@ <==l“‘zl~‘-’~il--l -“l—ld_l-l HiAl Stial %I
Reason/d<h (R) :

Carbon dioxide emissions from combustion of
biomass are used by developing/daT=HATH & @4 o

SOfsid sheaa EEs3fadise ol faoerasiiear s=ams
ZT 39T K forar sar 2
In the light of the above statements choose the

correct answer from the options given below :

STk held ok 3Tolleh | Fretertara faramodt

o 9Er 9T =

(a) Both (A) and (R) are true and (R) 1s the
correct explanation of (A)/(A) 33X (R) <=1
ST 2 3T (R), (A) HI TS =TT 2 |

(b) Both (A) and (R) are true but (R) 1s not the
correct explanation of (A)/(A) (R) =0

& 2 9%d (R), (A) HI TS =TT AT 2
(c) (A) 1s true but (R) 1s false

(A) T @ 9d (R) Tl &1 21
(d) (A) is false but (R) is true

(A) T T8F @ 9% (R) H&r 2|

"

)




Comment Your Score

Easy Notes 4u

Online Study




